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ATmegat03/103 AVR RISC CMOS 8
» ATmegab03/103 IMIPS/MHz ,
AVR 32 ALUY
) :
, AVR CISC 10
1 ATmegab03/103
ATmegat03/103 : 64K/128K FLASH 2K/4K EEPROM. 4K
SRAM. 32 /0 . 8 + 8 32 ,
/ , , UART
» SPI - » CPU
\ / 5 :
TIC2 a
ATMEL FLASH SPI
RISC 8 CPU FLASH
ATmegab03/103 .
ATmegat03/103 5 / 5
ATmega603 ATmegalO3
ATmegab03 64K FLASH: 2K EEPROM: 4K SRAM.
ATmegalO3 128K FLASH: 4K EEPROM: 4K SRAM.
1 -
1
FLASH EEPROM SRAM
ATmegab03 64K 2K 4K
ATmegalO3 128K 4K 4K
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A 8 /0 . = A
20mA , LED. , ,
o A , -

SRAM
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B  (PB7.PBO):
B 8 /1o =B
, LED. , ,
. » B ’
B
C (PC7.PCO:
C 8 /o . 20mA a
SRAM C
» C .
D (PD7.PDO):
D 8 /o .
D .
E {(PE7.PEOX
E 8 /10 .
E .
F  {(PF7.PFO}
F 8 /0 . ADC .
/RESET: . 50ns .
XTALIL .
XTAL2:
TOSC1: RTC .
TOSC2: RTC .
IWR: SRAM
/RD: SRAM a
ALE: , 8
AVCC: A/D - Vee
AREF: A/D : AGND AVCC .
AGND:
/PEN: .
XTAL1  XTAL2 \ :
» XTAL2
2
3
TOSC1 TOSC2
32768Hz . 256KHz.

20mA

20mA

50ns
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4 ATmegab03/103 AVRRISC

AVR HARVARD .
CPU : -
AVR 16 o
32 .
SRAM .
4000 SRAM 5
110
AVR
7 0
RO $00
R1 $01
R2 $02
R13 $0D
R14 $0E
R15 $OF
R16 $10
R17 $11
R26 $1A X
R27 $1B X
R28 $1C Y
R29 $1D Y
R30 $1E z
R31 $1F 4
: SBCI. SUBI. CPl. ANDI  ORI.
: RI6 R3l.
5 L] L]
o S?AM 1
X+ Y Z
R26~R31 :

SPE

SP

{ Pipeline!

SRAM

16

16
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6 X. Y. Z
15 0
X 7 0] 7 0
R27 ($1B! R26 i $1A
15 0
Y 7 of 7 0]
R29 {$1D!} R28 {$1C)
15 0
Z 7 0|7 0
R31 ($1F) R30 ($1E)
ALU
AVRALU 32 « ALU 3 .
FLASH
ATmegab03/103 64K/128K FLASH. 16 , FLASH
32K 16/64K % 16. FLASH 1000
SRAM
ATmegab03/103 a
2
SRAM SRAM
A 4000 0
B 4000 64K
64KSRAM & 60K
7
4096 » 110 SRAM. 96
+1/0:s 4000 SRAM.
ATmegab03/103 64K SRAM. 4K SRAM ,
SRAM
SRAM SRAM + MCU SRAM { 1
SRAM  /RD  /WR o SRAM MCUCR SRE
SRAM , LD. ST: LDS STS: PUSH
POP . SRAM:
SRAM a
5 H L] L] L] L] L]
R26 R31 a
Y‘\. Z 63 ]
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X Yy Z o
32 » 64 1/0 » 4000 SRAM 64K
ATmegat03/103
8
9
/10
10
11
12
13
14
15
LPM. ELPM :
16
» JMP CALL:
17
» IIMP  ICALL:
18
» RIMP RCALL:
19
EEPROM
ATmegab03/103 2K /4K EEPROM.
« EEPROM 100000 ¢ 1. EEPROM
AVR CPU & o a
20 HARVARD '
[ 1IMIPS/MHz. B / “
20

SRAM
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21 . . ALU
21 ALU
22 SRAM
/O
3 ATmegab03/103 1/O
(16
$3F($5F) SREG
$3E($5E) SPH
$3D($5D) SPL
$3C($50) XDIV XTAL
$3B($5B) RAMPZ RAM z
$3A($5A) EICR
$39($59) EIMSK
$38($58) EIFR
$37($57) TIMSK TIC
$36($56) TIFR TIC
$35($55) MCUCR MCU
$34($54) MCUSR MCU
$33($53) TCCRO T/CO
$32($52) TCNTO T/ICO (8 )
$31($51) OCRO T/CO
$30($50) ASSR
$2F($4F) TCCRIA T/IC1 A
$2E($4E) TCCRI1B T/IC1 B
$2D($4D) TCNT1H T/C1
$2C($40) TCNTIL T/C1
$2B($4B) OCRIAH T/C1 A
$2A($4A) OCRIAL T/IC1 A
$29($49) OCRIBH T/C1 B
$28($48) OCRIBL T/IC1 B
$27($47) ICR1H T/C1
$26($46) ICRIL T/C1
$25($45) TCCR2 T/C2
$24($44) TCNT2 T/IC2 (8 )
$23($43) OCR2 T/C2
$21($41) WDTCR
$1F($3F) EEARH EEPROM
$1E($3E) EEARL EEPROM




ATmega603/103

$1D($3D) EEDR EEPROM
$1C($30) EECR EEPROM
$1B($3B) PORTA A
$1A($3A) DDRA A
$19($39) PINA A
$18($39) PORTB B
$17($37) DDRB B
$16($36) PINB B
$15($35) PORTC C
$14($34) DDRC C
$13($33) PINC C
$12($32) PORTD D
$11($31) DDRD D
$10($30) PIND D
$OF($2F) SPDR SPI
$OE($2E) SPSR SPI
$0D($2D) SPCR SPI
$0C($20) UDR UART
$0B($2B) USR UART
$0A($2A) UCR UART
$09($29) UBRR UART
$08($28) ACSR
$07($27) ADMUX ADC
$06($26) ADCSR ADC
$05($25) ADCH ADC
$04($24) ADCL ADC
$03($23) PORTE E
$02($22) DDRE E
$01($21) PINE E
$00($20) PINF F
AVRATmMega603/103 110 /10 . IN OUT
o 32 . $00-$1F  1/0
sl cBl . SBC 9BS . IN
ouT $00-$3F . SRAM 110 ;
$20. 1/0 SRAM
; “0”, 110
“1” . CBl  SBI .
“1%, . CBI Bl $00-$1F
110
SREG | Status Register !
BIT 7 6 5 4 3 2 1 0
$Fissk) [ 1 | T [ H | s | v | N | Z | C
/ RIW RW  RW  RW RW  RW RW  RW
0 0 0 0 0 0 0 0
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: . | . RETI
T:
BLD BST T . BST T,
BLD T .
H:
S:
N V
Vs
N=
Z
C:
sP
BIT 15 14 13 12 1 10 9 8
$3E($5E) | SP15 | SP14 | SP13 | SP12 | SP1l | SP10 SP9 SP8
$3D($5D) [ sp7 SP6 SP5 SP4 SP3 SP2 SP1 SPO
7 6 5 4 3 2 1 0
/ RIW RIW RIW RIW RIW RIW RIW RIW
RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
SRAM .
. $60 . PUSH . .
, . POP ; ; RET  RETI
z RAMPZ
BIT 7 6 5 4 3 2 1 0
$3B ($5B) [ - - - - | -] - | - | rRamPzo |
/ R R R R R R R RIW
0 0 0 0 0 0 0 0
RAMPZ z 64K  SRAM. AT megab03/103
64K . » RAMPZ ELPM
RAMPZO=0: ELPM $0000 — $7FFF ( 64K .
RAMPZO =1: ELPM $7FFF — $FFFF { 64K s
LPM RAMPZ
AT megab03 RAMPZ ; ELPM . LPM
64K .
MCU —MCUCR
BIT 7 6 5 4 3 2 1 0
$35$55) [ SRE | sRw | s | sm | - | - [ - | - ]
/ RIW RIW RIW RIW R R R R
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0 0 0 0 0 0 0 0
SRE: SRAM
SRE  “1¥ , MCU SRAM: ADO-7 {A )}, A815({C I /WR /RD
. . SRE . SRAM .
1/0 .
SRW: SRAM
SKRW “0” SRAM 3 . SRW . MCU
SE:
SLEEP . SE MCU . MCU
. SLEEP
SM1/SMO:
, 4 .
4
SYH SMO
0 0
0 1
1 0
1 1
XTAL —XDIV
BIT 7 6 5 4 3 2 1 0
$3C($5C) | XDIVEN | XDIV6 | XDIV5 | XDIV4 | XDIV3 | XDIV2 | XDIV1 | XDIVO |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
XDIVEN: XTAL
XDIVEN “1* , MCU XDIV6-XDIVO {d) .

XDIV6.XDIVO: XTAL

d XDIVEN  “0Q" . MCU :

ATmega603/103 23 . .

: - 5.
. » RESET .
5

1 $000 RESET :

2 $002 INTO 0
3 $004 INT1 1
4 $006 INT2 2
5 $008 INT3 3

10 10
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6 $00A INT4 4

7 $00C INT5 5

8 $01E INT6 6

9 $010 INT7 7

10 $012 TIMER2 COMP T/C2

1 $014 TIMER2 OVF TIC2

12 $016 TIMERL CAPT T/C1

13 $018 TIMERLCOMPA | T/C1

14 $01A TIMERLCOMPB | T/C1

15 $01C TIMERL OVF T/C1

16 $01E TIMERO COMP T/CO

17 $020 TIMERO OVF T/CO

18 $022 SPI, STC

19 $024 UART. RX UART

20 $026 UART. UDRE UART

21 $028 UART, TX UART

22 $02A ADC ADC

23 $02C EE READY EEPROM

24 $02E ANA_COMP
$000 RIMP RESET ;
$002 RIMP EXT_INTO : IRQO
$004 RIMP EXT_INT1 : IRQ1L
$006 RIMP EXT_INT2 : IRQ2
$008 RIMP EXT_INT3 : IRQ3
$00a RIMP EXT_INT4 : IRQ4
$00c RIMP EXT_INT5 : IRQ5
$00e RIMP EXT_INT6 : IRQ6
$010 RIMP EXT_INT7 : IRQ7
$012 RIMP TIM2_COMP ;T2
$014 RIMP TIM2_OVF : T2
$016 RIMP TIM1_CAPT ; T1
$018 RIMP TIM1_COMPA : T1
$0la RIMP TIM1_COMPB ; T1
$01c RIMP TIM1_OVF : T1
$0le RIMP TIMO_COMP . TO
$020 RIMP TIMO_OVF . TO
$022 RIMP SPI_STC : SPI
$024 RIMP UART RXC : UART
$026 RIMP UART DRE : UART
$028 RIMP UART TXC : UART
$02a RIMP ADC . AD
$02c RIMP EE_RDY . EEP
$02e RIMP ANA_COMP

11

11
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$030 MAIN: LDI R16: HIGH(REMEND)
$022 ouT SPH, R16
$034 LDI R16: LOW(REMEND)
$036 RIMP
$038 < > XXX
ATmega603/103 3
°® . Vpor MCU
o -« [RESET 50ns MCU .
° a MCU
' /O : $000 = $000
IMP— — . :
a 23 - 6
23
6 {Vce =5.0V!
Voor® ! ] 1.0 1.4 1.8 V
i ] 0.4 0.6 0.8 V
VRst - Vec/2 V
STU =00 u 16 21 CPU
trour STU i 01 0.4 0.5 0.6
STU =10 3.2 4.0 4.8 ms
Stu=11 12.8 16.0 19.2
: L Vpor .
{ PORJ 23 ,
1 MCU Vee Vrot a
SUTL/0 MCU a
WDT
7a : "
7
SUT1/0 {Vce=5V) WDT
01 0.5ms 512
10 4.0ms 4K
1 16.0ms 16K
SUTL0 00 .CPU 5 CPU WDT : CPU
' XTAL XTAL1
+ IRESET Vee : .
Vee /RESET : a 25.
24 MCU v IRESET V¢

12 12
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25 MCU » /IRESET
/RESET a 50ns .
- Vgst @ J s trout
a » MCU
26
' 1 XTAL a '
trout a
27
MCU —MCUSR
BIT 7 6 5 4 3 2 1 0
$34($54) | - | - | - | - | - | - | EXTRF | PORF |
/ R R R R R R R/W R/W
0 0 0 0 0 0
7.2
EXTRF:
(X3
PORF:
8 PORF EXTFR
PORF EXTRF
1
1
PORF EXTRF , o PORF
EXTRF o ,
9
PORF EXTRF
0 0
0 1
1 0
1 1
ATmegab03/103 2 EIMSK— TIMSK—T/C

L] / L]

13 13
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| . . RETI | .
{{1.!.! . , )
. “0” .
. . |
—EIMSK
BIT 7 6 5 4 3 2 1 0
$39($59) | INT7 | INT5 | INT5 | INT4 | INT3 | INT2 | INT1 | INTO |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
INT7-INT4: 7-4
INTX | “ 1", . EICR
ISCx1  ISCx0 , .
INT3-INTO: 30
INTX | “ 1", . .
—EIFR
BIT 7 6 5 4 3 2 1 0
$38($58) | INTF7 | INTF6 | INTF5 | INTF4 | - | - | - | - |
/ RIW RIW RIW RIW R R R R
0 0 0 0 0 0 0 0
3.0:
INTF7-INTF4: 7-4
INTX + INTFx (“1%). SREG | EIMSK
INTx “1",  MCU . .
, {{1”
—EICR
BIT 7 6 5 4 3 2 1 0
$3A($5A) | 1sC71 | 1sC70 | 1sC61 | 1SC60 | 1SC51 | 1SC50 | 1SC41 | 1SC40 |
/ RIW RIW RIW RIW RIW RIW R/W R/W
0 0 0 0 0 0 0 0
| SCx1/0= 7-4
INT7-INT4 .
10 7-4
I SCx1 | SCx0
0 0
0 1

14 14
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1 0
1 1
ISCx1/1SCX0  » INTx ¢ EIMSK  INTXx i
TIC —TIMSK
BIT 7 6 5 4 3 2 1 0
$37($57) | OCIE2 | TOIE2 | TICIE1 | OCIE1 | OCIE1 | TOIE1 | OCIEO | TOIEO
A B
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
OCIE2: T/C2
TOIE2 | “17 . TIC2 . TIFR
OCF2 . { $0012} .
TOIE2: T/C2
TOIE2 | “1* . TIC2 . TIC2 . TIFR TOV2
:  $0014) .
TICIE1l: T/C1
TICIEL | “1” . T/IC1 { ICP},
TIFR ICF1 . { $0016
OCIE1A: T/C1 A
TOIE1A | 1", A . TIC1 A .
TIFR OCF1A , { $0018 .
OCIE1B: T/C1 B
TOIEIB | “17 B . TIC1 B .
TIFR OCF1B . { $001A)
TOIE1l: T/C1
TOIEL | “1" ., TICc1 . TIC1 , TIFR TOV1
: { $001C! .
OCIEO: T/CO
TOIEO | “ 1", = T/CO . TIFR
OCFO . { $001E)
TOIEO: T/CO
TOIEO | “1” , TICO . TI/CO . TIFR TOVO
' { $0201 -
TIC —TIFR
BIT 7 6 5 4 3 2 1 0
$36($56) | OCF2 | TOV2 | ICF1 | OCF1A | OCF1B | TOV1 | OCFO | TOVO |
/ R/W RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
OCF2: T/C2
T/IC2 OCR2 . OCF2 . .
1% .  SREG . OCIE2 OCF2 .
TOV2: T/C2
TIC2 . TOV2 . . . TOV2

15 15
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“1¥ «  SREG . TOIE2 TOV2 .
PWM . T/C2 $0000 . TOV2 .
ICF1:
. ICF1 , T/C1 ICRL
. w17 . SREG I. TICIEIA
OCF1A: 1A
T/IC1 OCRI1A . OCF1A . .
w17 «  SREG l. OCIEIA OCFI1A ,
OCF1B: 1B
T/Cl1 OCRI1B . OCF1B . .
w17 -  SREG I. OCIEIB OCF1B ,
TOV1: T/C1
T/IC1 . TOV1 . . . TOV1
“1” . SREG . TOIEL TOvVi .
PWM . T/C1 $0000 . TOV1 .
OCFO:
T/CO OCRO . OCFO . .
¥1” .  SREG I. OCIEO OCF0 , .
TOVO: T/CO
T/CO » TOVO . . » TOVO
“1” SREG . TOIEO TOVO ,
AVR 5 . 5 . PC (2 )
SP 2 . . 3 .
. MCU
4 . . PC . SREG | .
:  AVR ,
SE  “1%, SLEEP SM1/0
MCU. . MCU SLEEP .
1/0 . , MCU RESET
{ $0003
SM1/0 “0" . SLEEP MCU . CPU
SPI. UART. . ADC. / . .
MCU. MCU. ,
. ACSR ACD. MCU . CPU

SM1/0 “10" . SLEEP

MCU

16 16

ICF1
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MCU .
MCU . .
MCU . .
. MCU 1ws (25100, .
MCU . MCU .
SM10 “11" . SLEEP MCU .
T/C2 . ASSR A0 . T/C2 .
. TIC2 MCU
1 In
. . MCU
T/C2 3 . . .
/
ATmegab03/103 3 / : 8 TIC 16 T/C. T/CO
. 32.768KHz .
{RTC). T/CO . T/IC1L TIC2 10
. TIC .
T/C
28 T/C1 TIC2
: CK/8. CK/64. CK/256 CK/1024. CK .
CKH 1 -]
29 TI/CO
T/CO PCKO. . PCKO . ASSR ASO. T/CO
TOSC1 . T/CO . ASO . TOSC1
TOSC?2 . T/CO
T/ICO TI/C2
30 T/CO .
30 T/CO
31 TI/IC2
T/CO PCKO PCKO0. T/C2 CK. CK
. T/Cx TCCRX .

17 17
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TIFR . TCCR ,  TIMSK TIC .
T/CO . CPU .
CPU . MCU CPU .
. TIC ; . TIC
TIC , OCRO OCR2 .
. PB4 {OCO/PWMO}  PB7 {PC2/PWM2}.
T/ICO TIC2 8 PWM.
T/CO —TCCRO
BIT 7 6 5 4 3 2 1 0
$33$53)| - | PwmOo | comol | comoo | cTCO | C€so2 | csol | csoo |
/ R R/W R/W RIW RIW R/W R/W R/W
0 0 0 0 0 0 0 0
T/C2 —TCCR2
BIT 7 6 5 4 3 2 1 0
$25(345) | - | Pwm2 | com21 | com20 | cTc2 | cs22 | cse1 | cs20 |
/ R RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
7:

PWMO/PWM2: PWM
T/ICO T/IC2 PWM

COM01, COM00/COM21, COM20:

COMn1l COMNO TIC PB4 OCO/PWMO} PB7{PC2/PWM2i
- 1/0 , 17
11.
1
COMNn1 COMNO

0 0 T/Cn Ocn

0 1 Ocn

1 0 Ocn

1 1 Ocn
n=0 2
CTCO/CTC2: T/COs T/C2
CTcn  “1% » T/Cn Oa CTCn  “0% T/Cn

CPU
: a 1
c .

JC2|C1|Cl0]|1]..
8 .
.| C2,C2,C2,C2,C2,C2,C2,C2|C1,C1,C1,CG1,C1,C1,C1,C1(C,0,0,0,0,0,0,0 ...
PWM , .
CS02. CS01. CS00/ CS22. CS21. CS20:
12 T/CO

18 18
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CS02 CS01 CS00
0 0 0
0 0 1 PCKO
0 1 0 PCKO0/8
0 1 1 PCK0/32
1 0 0 PCK0/64
1 0 1 PCK0/128
1 1 0 PCKO0/256
1 1 1 PCK0/1024
13 TIC2
CS02 CSo1 CS00
0 0 0
0 0 1 CK
0 1 0 CK/8
0 1 1 CK/64
1 0 0 CK/256
1 0 1 CK/1024
1 1 0 T2,
1 1 1 T2,
/ . CK .
T/C2 ([CS22, CS21] =[1. 1]3s . PD7 (T2}
T/C2 .
T/CO—TCNTO
BIT 7 6 5 4 3 2 1 0
$32(352) |_MSB | | | | I | | LsB
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
TIC2—TCNT2
BIT 7 6 5 4 3 2 1 0
$22($42) | MSB | | | | | | | LSB
/ R/W RIW R/W RIW R/W RIW RIW RIW
0 0 0 0 0 0 0 0
T/Cn / " » T/Cn
T/CO —OCRO
BIT 7 6 5 4 3 2 1 0
$31($51) | MSB | | | | | | | LSB
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
TIC2 —OCR2
BIT 7 6 5 4 3 2 1 0
$23($43) | MSB | | | | | | | LSB
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
T/Cn T/Cn a T/Cn OCRn :

19 19
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o TCNTn  OCRn o
PWM T/CO T/C2:
PWM » T/ICO TIC2 OCR0O/OCR2 8 \
. PWM. PB4 { OCO/PWMO! PB7 {OC2/PWM2}.
T/Cn / ' 0 $FF, 0Oa
OCRO0/OCR2 » OCO0/0C2 COMO00/COMO1 COM20/COM21
14 PWM
COMn1 COMnNO /PWM
0 0 PWM
0 1 PWM
1 0 Ocn:
Ocn | PWM
1 1 OCn;
Ocn | PWM i
n=0 2
PWM » OCRO/OCR2 : $FF
OCRO/OCR2 PWM
32 OCR
OCRO/OCR2:
OCRO/OCR2 $00 S$FF OCn 15.
15 OCRn=$00 $FF PWM
COMnN1 COMNO OCRnN OCn
1 0 $00 L
1 0 $FF H
1 1 $00 H
1 1 $FF L
n=0 2
PWM , $00 TOVO/TOV2.
PWM 510.
—ASSR
BIT 7 6 5 4 3 2 1 0
$30500) | - | - | - | - [ AsO | TCNOUB | OCROUB | TCROUB |
/ R R R R R/W R/W R/W R/W
0 0 0 0 0 0 0 0
7.4
ASO: T/CO
ASO » T/ICO TOSC1 = PC6 PC7 ' [/O.
ASO 0% T/CO a TCNTO.
TCNOUB: T/CO
T/CO , TCNTO TCNOUB o TCNTO
TCNOUB -« TCNOUB “0* TCNTO

OCRQUB:

20 20
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T/CO .  OCRO OCROUB = OCRO
OCROUB . OCROUB 0" OCRO
TCROUB: T/CO
T/CO »  TCCRO TCROUB . TCCRO
TCROUB . TCROUB “0” TCCRO
TCNTO: OCRO TCCRO TCNTO . OCRO
TCCRO .
T/CO
T/CO .
° TCNTO. OCRO. TCCRO .
1. T/CO OCIE0  TOIEO.
2- ASD .
3. TCNTO: OCRO TCCRO .
4. TCNOUB. OCROUB  TCROUB
5. . .
° 32768Hz , 256kHz.
256kHz. . 1/4.
° TCNTO, OCRO  TCCRO . TOSC1
. - 3
. TCNTO OCRO. ASSR
° T/CO MCU . TCNTO. OCRO TCCRO
. MCU T/CO .
T/CO MCU . OCRO TCNTO
. MCU .
° T/CO .
TOSC1 TOSC1
1.  TCNTO, OCRO TCCRO
2.
3.
° . T/CO . .
. 1 .
1 T/CO.
° , =« MCcCuU
3 , . . MCU .

21
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16 T/C1
33 T/C1 .
33 T/C1
T/IC1 CK. CK . T/IC1
TCCRIA TCCRI1B - TIFR »  TIMSK T/C1 .
T/CO , CPU .
CPU . MCU CPU .
. T/IC1 : . TIC1
OCR1A/OCR1B » TIC1 .
A .
T/C1 8& 9 10 PWM . . OCR1A/OCR1B
PWM.
ICP . T/IC1 ICR1.
TCCRI1B . , . ICP
32.
32 ICP
. 4 . 4 .
T/IC1 A—TCCRIA
BIT 7 6 5 4 3 2 1 0
$2F($4F) | COMI1Al | COMIA0 | COM1B1 | COM1BO | - | - | PWM1L | PWMIO |
/ R/IW RIW RIW RIW R R RIW R/W
0 0 0 0 0 0 0 0
3. 2
COM1A1, COM1AO0: 1A, 1 O
COMIA1 COMI1AO T/IC1 OC1A . 1/0
, w17 . 12.
COM1B1. COM1BO: 1B. 1 0
COM1B1 COM1BO T/IC1 OC1B .
16 1
COM1X1 COM1X0
0 0 T/IC1 OC1X
0 1 OC1X
1 0 OC1X
1 1 OC1X
X=A B
PWM . . 17.
PWM1l, PWM10: PWM
17 PWM

PWM11 PWM10
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0 0 T/IC1I PWM
0 1 T/ICL 8 PWM
1 0 TICL 9 PWM
1 1 T/ICL 10 PWM
T/IC1 B—TCCR1B
BIT 7 6 5 4 3 2 1 0
$2E($4E) |ICNC1 [ ICESL | - | - [ cTci | cs12 | csut | csi0 |
/ R/W RIW R R RIW RIW RIW RIW
0 0 0 0 0 0 0 0
5. 4
ICNC1: {4 )
ICNC1 . ICP- / . ICNC1 %17
. ICP 4 . 4
XTAL .
| CESl: 1
ICES1 “0* . TIC1 ICP ICRL.
ICES1 “1".  TIC1 ICP ICR1.
CTCl1: T/IC1
cTcr  “1* ., A . TIC1 0- CTCl1 “0% T/IC1
CPU . . 1, A

Jc2|c1|C|O0]|1]...
8 :
.| C2,C2,C2 C2 C2 C2,C2,C2|C], C1,C1,C1,C1,C1,C1,C1)C,0,0,0,0,0,0,0]...
PWM : .
CS12. CSll1. CS10:

14 T/C1
Cs12 Csl1 CS10
0 0 0
0 0 1 CK
0 1 0 CK/8
0 1 1 CK/64
1 0 0 CK/256
1 0 1 CK/1024
1 1 0 T1,
1 1 1 1,
T/CI—TCNTIH TCNTIL
BIT 15 14 13 12 11 10 9 8
$2D($4D) | MSB
$2C($4C) LSB
7 6 5 4 3 2 1 0
/ RW RW RW RW RW RW RW RW
RW RW RW RW RW RW RW RW
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
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16 TICL . CPU :
: 8 TEMP. OCRI1A. OCR1B
ICR1 . TEMP,
° TCNTL:
CPU TCNTIH TEMP . CPU TCNTIL
TEMP TCNTL. : TCNTL1 (16 1
TCNT1H.
° TCNT1:
CPU TCNTIL . TCNTIL CPU. , TCNTIH TEMP
. CPU TCNTIH . TEMP CPU. : 16
TCNTL TCNTIL.
TIC1 / {  PWM ). TIC1 ., TICL
TIC1 —OCR1AH OCRIAL
BIT 15 14 13 12 1 10 9 8
$2B($4B) [ MSB
$2A($4A) LSB
7 6 5 4 3 2 1 0
/ RIW RIW RIW RIW RIW RIW RIW RIW
RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
TIC1 —OCR1BH OCRIBL
BIT 15 14 13 12 1 10 9 8
$29($49) [ ™msB
$28($48) LSB
7 6 5 4 3 2 1 0
/ RIW RIW RIW RIW RIW RIW RIW RIW
RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
T/IC1 T/IC1 . TIC1 OCR
. TCNT1 OCRIA OCRIB
PORTD5 PORTD4 OClA OCIB.
OCRIA/OCR1B 16 : TEMP
. TCNT1
TCNT1 ICR1 TEMP . TEMP,
T/IC1 —ICR1H ICRIL
BIT 15 14 13 12 1 10 9 8
$27($47) [ MSB
$26($46) LSB
7 6 5 4 3 2 1 0
/ R R R R R R R R
R R R R R R R R
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0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
ICES1 , ICP » TCNT1 ICR1. ,
ICF1 o
ICRL 16 , TEMP -
TCNT1 -
PWM T/Cl:
PWM » TIC1 OCR1A/OCR1B 8 9 10
PWM. T/C1 / , 0 TOP:
08 OCR1A/OCR1B r 8 9 10 ! » OC1A/OC1B
COM1A0/COM1A1 COMI1BO/COMI1B1 -
19 TOP PWM
PWM TOP
8 $OOFF {255} Frc1/510
9 $O1FF (511} Frc1/1022
10 $O3FF | 1023} Frc1/2046
16 PWM 1
COM1X1 COM1XO0 OCl1
0 0 PWM
0 1 PWM
1 0 OC1;
OC1 ¢ PWM 3
1 1 OC1;:
OC1 ¢ PWM
X=A B
PWM » OCR1A/OCR1B 10 , T/IC1
TOP OCR1A/OCRI1B. OCR1A/OCR1B
PWM
33 OCR1
OCR1A/OCR1B:
OCR1 $00000 TOP OC1 13.
21 OCR1X=$0000 TOP PWM
COM1X1 COM1XO0 OCR1X OC1X
1 0 $0000 L
1 0 TOP H
1 1 $0000 H
1 1 TOP L
X=A B
PWM : $0000 TOV1.
- Vec=5V ' 1MHz.
(8 I a WDT.
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. WDT . MCU. ATmega603/103
36
—WDTCR
BIT 7 6 5 4 3 1 0
$214) | - | - | - |wbrtoe| wbeE | wppP2 | wbPl | wDPo |
/ R R R RIW RIW RIW RIW RIW
0 0 0 0 0 0 0
7.5:
WDTOE:
WDE “1” . 4 .
WDE:
WDE “1" , . WDTOE “1” WDE
1. WDTOE WDE 1s WDE
2. 4 . WDE 0.
WDP2. 0:
22
WDP2 | WDP1 | WDPO Vee=3V Vee=5V
0 0 0 16K 47ms 15ms
0 0 1 32K 94ms 30ms
0 1 0 64K 0.19s 60ms
0 1 1 128K 0.38s 0.12s
1 0 0 256K 0.75s 0.24s
1 0 1 512K 1.5s 0.49s
1 1 0 1024K 3.0s 0.97s
1 1 1 2048K 6.0s 1.9s
WDT . .
O a
EEPROM /
EEPROM 1/0 .
EEP . 2.5~4ms
. EEPROM, :
. / Vee | . MCU
. . EEP . EEP
EEPROM .
EEPROM / . CPU 2 . .
EEPROM —EEARH  EEARL

BIT 15 14 13 12 1 10 9 8
$1F$3F | - | - | - | - | EEARLl| EEARL | EEAR9 | EEARS |
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1 0
$1E($3E) | EEAR7 | EEAR6 | EEARS | EEAR4 | EEAR3 | EEAR2 | EEARL | EEARO
7 6 5 4 3 2 1 0
/ R R R R RIW RIW RIW RIW
RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 X
X X X X X X X X
EEARH EEARL ATmegab03/103  2K/4K EEPROM. ATmeyab03
EEAR11. EEPROM . 0 2047/4095.
EEPROM —EEDR
BIT 7 6 5 4 3 2 1 0
$1D($3D) [ MSB | | | I | | | LsB |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
EEDR7.EEDRO: EEPROM
EEPROM . EEDR DDAR . EEDR
EEAR .
EEPROM —EECR
BIT 7 6 5 4 3 2 1 0
$2e | - | - | - | - | EERIE| EEMWE | EEWE | EERE |
/ R R R R R RIW RIW RIW
0 0 0 0 0 0 0 0
7.3:
EERIE EEPROM
| EERIE . EEPROM . EEWE “0” . EEPROM
{ constant .
EEMWE: EEPROM
EEMWE EEWE %17 EEPROM . EEMWE %1% , EEWE
EEPROM EEMWE “0%,  EEWE . EEMWE
4 .
EEWE: EEPROM
EEP . EEWE EEPROM. {
2 3 i
1. EEWE O:
2. EEP EEAR;
3. EEDR;
4. EEMWE:
5. EEMWE 4 . EEWE 1.
{Vec=2.7V 4ms + Voc=5V 2.5ms ) . EEWE
. EEWE . CPU 2
: 4 5 . EEP
EEP . RRAR EEDR . EEP

Iﬂ
EERE: EEPROM

27 27



ATmega603/103

EEP :
EEDR. EEPROM
CPU 2 -
EEP
EEP :

EERE

EEWE

EEPROM
» CPU EEPROM
EEPROM a
EEPROM

: CPU 0
EEPROM 3
1. /RESET

Detection . AVR
2. Vece AVR
EEPROM o

3. FLASH -

—SPI

SPI
ATmegat03/103 SPI
+ 3

BOD

ATmegab03/103

LSB MSB

e 6 6 6 06 0 O
I

37 SPI

CPU
SPI
PB2 {MOSI} a

SPCR SPIE{SH i :
» PB4 (/SSi, .

SPI 38. PB1 SCK!

» SPI

SPI ,

SPI » MOSI. MISO. SCK /SS

28 28

SPI :

EEDR. EERE

EEAR

EEPROM

CPU

EEPROM

i BOD— Brown-out

PB2 iMOSI!

EEPROM
= EERE

EEDR

16
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16 SPI
{ } { }
MOSI
MISO
SCK
ISS
ISS
SP {SPCR  MSTR s ISS . ISS
. 1/0 SPl. ISS ,ISS
SP , 1SS . ,  SP
. . SPI
1. SPCR  MSTR “0%  SPl . MOSI  SCK .
2. SPSR  SPIF ,  SPI .
. A . ISS
MSTR . MSTR . MSTR.
SA , ISS ISS . SP ,» MISO
. ISS . , SPI
ISS . SP ISS .
SCK . 4 . CPHA  CPOL . SPI
39 40.
39 SPI { CPHA=0, DORD=0}
40 SPI { CPHA=1, DORD=0}
SPI —SPCR
BIT 7 6 5 4 3 2 1 0
$0D($2D) | SPIE | SPE | DORD | MSTR | CPOL | CPHA | SPR1 | SPRO |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
SPIE: SPI
SPE: SPI
DORD:
DORD “1" LSB : DORD “0", MSB
M STR:
MSTR . . MSTR  “1% /SS . .
MSTR . SPIF MSTR
CPOL:
CPOL SCK .
CPHA:
39  40.

SPR1. SPRO: SPI
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24 SCK
SPR1 SPRO SCK
0 0 fo /4
0 1 fo /16
1 0 fo /64
1 1 fo /128
SPI —SPSR
BIT 7 6 5 4 3 2 1 0
$0E($2E) | SPIF [wecoL | - | - | - | - [ - | -
/ RIW RIW R R R R R R
0 0 0 0 0 0 0 0
5.0:
SPIF: SPI
.+ SPIF . ISS ( Ve SPIF
. SPSR; SPDR SPIF .
WCOL:
SPI SPI SPDR WCOL. WCOL SPSR;
SPDR .
SPI —SPDR
BIT 7 6 5 4 3 2 1 0
sor(s2r) [Mse | | | | | | =
/ RIW R/W RIW RIW RIW RIW RIW RIW
X X X X X X X X
UART
ATmegab03/103 .
° { bps)
(]
® 8 9
[ J
([
[ J
(]
e 3 : :
41  UART .
UART UDR . UDR
° ,  UDR
° ; ,» UDR
41 UART
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10 {11} . UDR . UDRE
. UART . . 0
! i : 9 10¢ J o 9 { UART
CHR9 Ia UCR TXBS8 9
UART TXD . . UDR .
UART . . UDRE .
UDR. UDR . bit .
TXC .
UCR TXEN UART . TXEN 0" , PD1 /O . TXEN
“1” ., UART PD1. .
42 UART
16 RXD .
, . . 1
= CPU 8& 9 10 RXD 3
. . . MCU
1 0 .
. MCU . 8
9 10. 3 . 43 .
43
» 3 . » USR
FE UDR . FE.
, UDR: USR RXC . UDR
. . . UDR
UDR: UDR UDR. 9 ., UCR RXBS8
UDR 9
UDR . UART . USR OR
UDR . OR UDR . , , CPU
. UDR OR .
RXEN “0% . PDO 1/O RXEN . UART
PDO: .
UCR CHR9 “1* , 9 9 UCR TXBS8I
UDR 1 9 RXB8.
UART
UART —UDR
BIT 7 6 5 4 3 2 1 0
$0C($20) [ MSB | | | | | | | LsB |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
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UDR . . . UDR
UDR: UDR UDR.
UART —USR
BIT 7 6 5 4 3 2 1 0
$B$2B) | RxC | ™xC | WbRE| FE | OR | - [ - | - |
/ R RIW R R R R R R
0 0 1 0 0 0 0 0
2.0:
RXC: UART
RXC UDR: .
RXCIE “1", RXC . RXC UDR .
. UDR RXC:
TXC: UART
TXC . UDR
TXCIE . TXC . TXC .
-’{1.” .
UDRE: UART
UDR . UDRE .
UDRIE . UDRE  “1", UART . UDR
UDRE. . UART UDR
UDRE:
UDRE %17,
FE:
MCU ( “0"y  FE
"1 FE .
OR:
UDR . . OR .
UDR OR .
UART —UCR
BIT 7 6 5 4 3 2 1 0
$0A($2A) | RXCIE | TXCIE | UDRIE| RXEN | TXEN | CHR9 | RXB8 | TXB8 |
/ RIW RIW RIW R/W RIW RIW R W
0 0 0 0 0 0 1 0
RXCIE:
TXCIE
UDRIE UART
RXEN:
UART . TXC: OR FE .
TXEN:
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TXEN . " '
CHR9: 9
MCU 9 a 9 / RXB8/TXB8 a 9
RXBS8: 9
9
TXB8: 9
9
— fCK
BAUD=———*>*" _
16(BURR +1)
» BAUD = [
fok =
UBRR = UART | 0-255)
18 UBRR a
18 UBRR
IMHz % 1.8432 | % 2MHz % 24576 | %
MHz MHz
2400 BRR 0.2 47 0.0 51 0.2 63 0.0
= 25
4800 12 0.2 23 0.0 25 0.2 31 0.0
9600 6 7.5 11 0.0 12 0.2 15 0.0
14400 3 7.8 7 0.0 8 3.7 10 3.1
19200 2 7.8 5 0.0 6 7.5 7 0.0
28800 1 7.8 3 0.0 3 7.8 4 6.3
38400 1 22.9 2 0.0 2 7.8 3 0.0
57600 0 7.8 1 0.0 1 7.8 2 12.5
76800 0 22.9 1 33.3 1 22.9 1 0.0
115200 0 84.3 0 0.0 0 7.8 0 25.0
3.2768 | % 3.6864 | % AMHz % 4.608M | 9%
MHz MHz Hz
2400 | UBRR 0.4 95 0.0 103 0.2 119 0.0
= 84
4800 42 0.8 47 0.0 51 0.2 59 0.0
9600 20 1.6 23 0.0 25 0.2 29 0.0
14400 13 1.6 15 0.0 16 2.1 19 0.0
19200 10 3.1 11 0.0 12 0.2 14 0.0
28800 6 1.6 7 0.0 8 3.7 9 0.0
38400 4 6.3 5 0.0 6 7.5 7 6.7
57600 3 12.5 3 0.0 3 7.8 4 0.0
76800 2 12.5 2 0.0 2 7.8 3 6.7
115200 1 12.5 1 0.0 1 7.8 2 20.0
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73728 | % 8MHz | % 9.216M | % 11.059 | %
MHz Hz MHz
2400 | UBRR 0.0 207 0.2 299 0.0 287 -
= 191
4800 95 0.0 103 0.2 119 0.0 143 0.0
9600 47 0.0 51 0.2 59 0.0 71 0.0
14400 31 0.0 34 0.8 39 0.0 47 0.0
19200 23 0.0 25 0.2 29 0.0 35 0.0
28800 15 0.0 16 2.1 19 0.0 23 0.0
38400 11 0.0 12 0.2 14 0.0 17 6.7
57600 7 0.0 8 3.7 9 0.0 1 0.0
76800 5 0.0 6 7.5 7 6.7 8 6.7
115200 3 0.0 3 7.8 4 0.0 5 20.0
UART —UBRR
BIT 7 6 5 4 3 2 1 0
$09($29) | MSB | | | | | | | LsB |
/ R/W R/W RIW R/W RIW RIW RIW RIW
0 0 0 0 0 0 0 0
PB2 { AINO} PB3 [ AIN1} . PB2 { AINO}
PB3 { AIN1) . ACO .
i . 1, T/C1 44
44
—ACSR
BIT 7 6 5 4 3 2 1 0
$08$28) | AcCD | - | ACO | AClI | ACIE | ACIC | ACISL | ACISO |
/ RIW R R RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
6:
ACD:
ACD {{1”
o ACD 1
ACO:
ACO .
ACl:
ACI . ACISL ACISO . ACl |
“1",  CPU . ACI . ACI
“1” . . ACSR Bl
cBl , ACl .
ACIE:
ACIE “1% .
ACIC:
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ACIC  “1* , TIC1 . T/IC1
. TIC1 ACIC
“0" T/IC1 T/IC1 . TICIEL
ACIS1, ACISO:
16 ACISI/ACISO
ACIS1 ACISO
0 0
0 1
1 0 { ACO!
1 1 { ACO)
ACISI/ACISO .
e 10
® T2ISB
® 0.5LSB
® 70-280Ls
e 8
([ J
([ J
® ADC
([ J
ATmegab03/103 10 AD = ADC 8
. A ADC . ADC . ADC
45,
ADC AVee  AGND. AGND GND : AVee  Vee
+0.3V.
AREF . AGND - AVces
45 ADC
ADC . .
ADC ADCSR ADEN . ADC ,
ADC, AD . .
13 ADC .
ADSC AD ADSC ADSC
. . ADC .
ADC 10 . ADCH ADCL. .
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. ADCL. ADCL, ADC .
. ADCL. ADCH ADC .
ADC ADCH . ADC
ADCH ADCL .
ADC ADIF. ADCH
1 ADC a
46 ADC
ADC . ADC { 50 — 200kHZ )«
ADCSR ADPS0—ADPS2 ADC ADCSR ADEN .
. ADEN . ADSC ADC . AD
ADC - ADC 13 ADC
. ADC . ADC .
47 ADSC “1” . 27.
47
27 ADC
* {Ls)
14 26 28 140 - 560
1 13 15 75 — 300
48
49
ADC
ADC CPU .
1. ADEN ADC
2. ADGC, ADEN ADSG
3. 14 ADC
4, ADC . ADC MCU
ADC —ADMUX
BIT 7 6 5 4 3 2 1 0
sov¢seny | - | - | - | - | - ] mMux2]| muxi| muxo |
/ R R R R R RIW RIW RIW
0 0 0 0 0 0 0 0
7.3:
MUX2. MUXO0=
ADC 0-7

36
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ADC —ADCSR
BIT 7 6 5 4 3 2 1 0
$06($26) | ADEN | ADSC | - | ADIF | ADIE | ADPS2| ADPS1| ADPSO |
/ R/W RIW R RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
5 . ADCSR “0".
ADEN: ADC
ADSC: ADC
ADC , {:’1}.!
. . ADEN
., ADC ADC.
ADSC . , ADC
{ ADC 1, ADSC { ADSC )
., ADSC .
ADSC
ADIF: ADC
ADC ADIF . | ADIE . ADC .
ADIF “1* ADCSR - -
ADIE: ADC
ADPS2. ADPS0O: ADC
28 ADC
ADPS2 ADPS1 ADPS0O
0 0 0
0 0 1 2
0 1 0 4
0 1 1 8
1 0 0 16
1 0 1 32
1 1 0 64
1 1 1 128
ADC —ADCL  ADCH
BIT 15 14 13 12 11 10 9 8
$05($25) - - - - - - ADC9 | ADCS8
$04($24) | ADC7 | ADC6 | ADC5 | ADC4 | ADC3 | ADC2 | ADC1 | ADCO
7 6 5 4 3 2 1 0
/ R R R R R R R R
R R R R R R R R
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
ADCL ADCH .
ADC
ATmega603/103 EMI,
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1. ATmega603/103 PCB o
2. a :
3. AVee ’ 49 a
4, ADC CPU °
5. F ' ADC
49 ADC
ADC (Tp=-40"C -85 )
Min Max
10 Bit
Vrer = 4V Vo =4V 1 2 LSB
ADC =
200kHz
Viee = 4V Vo =4V 4 LSB
ADC = IMHz
VRer = 4V 16 LSB
ADC = 2MHz
Vger > 2V 0.5 LSB
Vgere > 2V 0.5 LSB
l i 1 LSB
70 280 Ks
50 200 kHz
AVee Ve - 0.39 Ve + 0.39 Y,
VRer AGND AVcc Vv
Rrer 6 10 13 Ko
Rain 100 Mo
1 1. AV 2.7V
2. AVcc 6.0V
SRAM
SRAM
e A
e C :
® ALE
® /RD /WR:
SRAM MCUCR SRE =« SRE o
SRE 0% SRAM , /0 .
ALE » A . ALE = /IRD
/WR SRAM a
SRAM , SRAM ALE , SRAM
ALE o
50 AVR SRAM “ 8 G
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51 . . SRAM 3 .
. MCUCR SRW . 52. . A
. . A .
78, 46/47/48.
50 AVR SRAM
51 SRAM
52 SRAM
/O
AVR /O - - . Bl CBI
I: * / * :I I: * / *
:Iﬂ
A 8 /0 .
A 3 1/0 : —PORTA: $1B i $3B!, —DDRA: $1A
{ $3A} —PINA: $19 {$39). PORTA DDRA . PINA .
. 20mA .
LEDu 1 1 o
A SRAM / .
A —PORTA
BIT 7 6 5 4 3 2 1 0
$1B($3B) | PORTA7 | | | | | | | PORTAO |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
A —DDRA
BIT 7 6 5 4 3 2 1 0
$1A($3A) | DDA7 | | | | | | | DDAO |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
A —PINA
BIT 7 6 5 4 3 2 1 0
$19($39) | PINA7 | | | | | | | PINAO |
/ R R R R R R R R
Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z
PINA . A . PORTA A

PINA .
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A /O
/o . A 8 .
PAN. 1/O : DDRA DDAnN DDAn  “1", PAn
DDAn  “0% PAN Y\ .
29 A
DDAN PORTAN 1/O
0 0 N { :
0 1 Y
1 0 N 0
1 1 N 1
n 7. 6.0
A
53 A { PAO-PA7)
B
8 /10 .
B 3 1/0 : —PORTB: $18($38), —DDRB, $17($37)
—PINB. $16 ($36). PORTB DDRB . PINB .
. 20mA .
LED. . . .
B
30 B
PBO /SS {SPI )
PB1 SCK )
PB2 MOSI )
PB3 MISO )
PB4 OCO/PWMO {T/CO PWM )
PB5 OCIA/PWMIA (T/C1 A PWM )
PB6 OC1B/PWM1B {T/C1 B PWM )
PB7 OC2/PWM?2 {T/C2 PWM )
B , DDRB  PORTB .
B —PORTB
BIT 7 6 5 4 3 2 1 0
$18($38) | PORTB7 | | | | | | | PORTBO |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
B —DDRB
BIT 7 6 5 4 3 2 1 0
$17($37) | DDB7 | | | | | | | DDBO |
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/ RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0
B —PINB
BIT 7 6 5 4 3 2 0
$16($36) | PINB7 | | | | | | PINBO |
/ R R R R R R R
Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z
PINB ; B . PORTB B
PINB .
B /O
/10 . B 8
PBn, /0 : DDRB DDBn . DDBn PBn
; DDBn  “0”,  PBn . . B
31 B
DDBn PORTBn 1/0
0 0 N
0 1 Y
1 0 N
1 1 N
n: 7. 6.0
B
® OC2/PWM2—PB7
T/IC2 PWM
® OCIA/PWM1A—PB6
TICIA PWM
® OCI1B/PWM1B—PB5
T/C1B PWM
® OCO/PWMO—PB4
T/CO PWM
® MISO—PB3
SPI ; . . DDB6
. SPI , MISO PB6  DDB6
® MOS—PB2
SPI : . . DDB5
. SPI , MOSI PB5 DDBS
® SCK—PB1
SPI : . . DDB7
. SPI , SCK PB7 DDB7 .
® /SS—PBO
. ; DDB4
SPI. . DDB4 . DDB4
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PORTB4 .
® AINI—PB3
{ DDB2=3}, {PB3=0)
® AINO—PB2
': DD82=0:'! ': PBZ=O:' ]
® T1—PB1
T/C1
® TO—PBO
T/CO
B
54 B { PBO
5 B {PB1}
56 B { PB2}
57 B { PR3}
58 B { PB4}
50 B { PB5/6!
60 B { PB7}
C
C 8 .
C S:\)AM -] -] 1 C
C —PORTC
BIT 7 6 5 4 3 2 1 0
$15($35) | PORTC? | | | | | | | PORTCO |
/ RIW RIW RIW RIW RIW RIW RIW RIW
0 0 0 0 0 0 0 0
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60 C { PCO-PC73
D
D 8 I/O 1 L]
D 3 1/0 : —PORTD: $12 ($32), —DDRD: $11
($31) —PIND. $10 ($30). PORTD DDRD . PIND
D 20mA . LED. .
D
3 D
PDO /INTO § 0 )
PD1 /INT1 ¢ 1 )
PD2 /INT2 2 )
PD3 /INT3 § 3 )
PD4 IC1 (T/C1 )
PD6 T1 (T/C1 )
PD7 T2 (T/C2 )
D —PORTD
BIT 7 6 5 4 3 2 1 0
$12($32) | PORTD7 | | | | | | | PORTDO |
/ RIW RW RW RW RW RW RW RIW
0 0 0 0 0 0 0 0
D —DDRD
BIT 7 6 5 4 3 2 1 0
$11($31) | DDD7 | | | | | | | DDBO |
/ RIW RIW R/W R/W R/W RIW R/W RIW
0 0 0 0 0 0 0 0
D —PIND
BIT 7 6 5 4 3 2 1 0
$10($30) | PIND7 | | | | | | | PINBO |
/ R R R R R R R R
Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z
PIND . D . PORTD D
: PIND .
D /O
PDn, 1/0 : DDRD DDDn . DDDn %1% PDn
: DDDn  “0"™  PDn . . D
34 D
DDDn | PORTDn | 1/0 |
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0 0 N { )
0 1 Y
1 0 N 0
1 1 N 1
n: 7,6.0,
D
® /INTO-/INT3—PDO-3
0-3.
® [C1—PD4
T/C1 ! : ] » TCNT1
T/C1 .
® T1—PD6
T/C1
® T2—PD7
T/C2
D
62 D i PD0/1/2/3)
63 D { PD4)
64 D { PD5)
65 D {PD6 PD7)
E
8 /10 - .
E 3 /0 : —PORTE: $031($23), —DDRE, $021$22)
—PINE: $01 i$21). PORTE DDRE » PINE 0
E 20mA : LED. :
E
33 E
PEO PDI/RXD UART i
PE1 PDO/TXD UART )
PE2 AC+ |
PE3 AC-
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PE4 INT4 4 )
PE5 INT5 ¢ 5 )
PE6 INT6 { 6 )
PE7 INT7 ¢ 7 )
E —PORTE
BIT 7 6 5 4 3 2 1 0
$03($23) | PORTE7 | | | | | | | PORTEO |
/ RIW RW RW RW RW RW RW RIW
0 0 0 0 0 0 0 0
E —DDRE
BIT 7 6 5 4 3 2 1 0
$02($22) | DDE7 | | | | | | | DDEO |
/ RIW R/W R/W R/W R/W R/W R/W RIW
0 0 0 0 0 0 0 0
E —PINE
BIT 7 6 5 4 3 2 1 0
$01($21) | PINE7 | | | | | | | PINEO |
/ R R R R R R R R
Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z
PINE . E . PORTE E
: PINE .
E /O
PEN, 1/0 : DDRE DDEnN . DDEn “1”.  PEn
: DDEn  “0"  PEn . . E .
3B E
DDEn PORTEN 1/O
0 0 N { )
0 1 Y
1 0 N 0
1 1 N 1
n: 7,6.0s
E
® PDI/RXD—PEO
PDI: .
RXD: UART
® PDOI/TXD—PE1
PDO: .
TXD: UART
® AC+—PE2
® ACPE3
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® [NTA-INT7T—PE4-7

4-7.
E
66 E { PEO)
67 E { PEL)
68 E { PE2)
69 E { PE3)
70 E { PE4/5/6/7)
F
F 8 a
F —PINF
BIT 7 6 5 4 3 2 1 0
$00($20) | PINF7 | | | | | | PINFO |
/ R R R R R R R R
Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z Hi-Z
PINF ; F .
F
71 F { PFO-7)
ATmegab03/103 , 36 “17,
36
LB1 LB2
1 1 1
2 O l 111
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H 1\ L o a o

ATmega603/103 4 : SPIEN. SUT1. SUTO. EESAVE.

® SPIEN ¢ “o"r . “0".

® FEESAVE . EEPROM . “1%.
® SUTLO MCU . 6. “11%.

Atmel 3 : .

ATmegab03:

1. $000: $1E i Atmel )

2. $001: $96 (64K FLASH!

3. $002: $01 ¢ $01 $99 . 603!
ATmegalO3:

1. $000: $1E Atmel )

2. $001: $97 (128K FLASH}

3. $002: $01 ¢ $01 $97 103}

FLASH EEPROM

ATmegab03/103 64K /128K FLASH 2K /4K EEPROM:
17, +12V . +12V
ATmegab03/103 FLASH 256/512 | . FLASH .

» EEPROM - .

37

ATmegab03 4.0V - 5.0V 4.0V -5.0v

ATmegab03L 3.4V - 3.6V 3.4V -5.0v

ATmegalO03 4.0V - 5.0V 4.0V - 5.0V

ATmegalO3L 3.4V - 3.6V 3.4V -5.0v

FLASH. EEPROM-. a
72

ATmegat03/103 « XALXAO XTAL1
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/IWE /OE . .
38
1/0
RDY/BSY PD1 ) 0: 1:
JOE PD2 | { )
/WR PD3 | { )
BS1 PD4 | 1 (¥0% 1%
XAO0 PD5 | 39
XA1 PD6 | 39
B2 PD7 | 2
PAGEL PAO |
DATA PBO-7 1/O { JOE )
39 XAl XAO
XA1 XAO | XTAL1
0 0 FLASH EEPROM {BS
0 1 {BS )
1 0
1 1
40
1000 0000
0100 0000
0010 0000
0001 0000 FLASH
0001 0001 EEPROM
0000 1000
0000 0100
0000 0010 FLASH
0000 0011 EEPROM
1. 37 Ve GND
2. /RESET  BSl: 100ns
3. /RESET 11.5~12.5V . BS1 /RESET +12V 100ns
FLASH EEPROM; . FLASH EEPROM
' . . FLASH EEPROM
113 » ) .
1. XAl XA0 “10" —
2. BS1 “0%

48 48




ATmega603/103

3. DATA %1000 0000* —
4.  XTAL1 —
5.  /WE twiwH cE . RDY/BSY
41 /WR
3.2V 3.6V 4.0V 5.0V
twiwH cE 56ms 43ms 35ms 22ms
FLASH
FLASH 256 /s 256/512
A:
1. XAL, XA0 “10" —
2 BSL “0%
3. DATA %0001 0000 — FLASH
4,  XTAL1 —
B:
1. XAL, XA0 “00" —
2 BSL “0" —
3. DATA = { $00~$FF)
4,  XTAL1 —
C:
1. BSL “0" —
2 XAl XA0 “01* —
3. DATA = { $00~$FF)
5.  XTAL1 —
D:
PAGEL 73.
E:
1. BS1 “1" —
2 XAL, XA0 “01" —
3. DATA = { $00~$FF)
4,  XTAL1 —
F:
PAGEL
G: 128 B .
PAGEL . 73.
H:
1. XAl XA0 “00" —
2. BS1 “1" —
3. DATA = { $00 - $7F/$FF]
4,  XTAL1 —
l:
1. /WR » RDY/BSY
2. RDY/BSY . 74.
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J:
1. XAl XA0 10" —
2 DATA = “0000 0000’ “ ”
3.  XTAL1
K: A
73
74
FLASH:
1. A %0000 0010*
2. H: { $00~$7F/$FF}
3. B { $00~$FF!
4, IOE BS1L “0% DATA FLASH
5. BSL “1%. FLASH .
6. IOE %17,
EEPROM:
1. A %0001 0001*
2. H:  $00~$07/$0F
3. B { $00~$FF}
4. E { $00~$FF)
L:
1. BS1 0" —
2. /WR . RDY/BSY .
3. RDY/BSY . 75.
° / . .
° {256 WORD!
° : $FF.
FLASH. EEPROM .
75 EEPROM
EEPROM:
1. A “0000 0011"
2. H: { $00~$07/$0F}
3. B { $00~$FF!
4, JOE BS1L “0% DATA
5. JOE 17,
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1.
2.

3.

1.
2,

3.

1.
2.

3.

1.

2.

A %0100 0000

C: . Bitn=%0"

Bit5 = SPIEN

Bit2 = EESAVE

Bit 2 = “1”

Bit 1= SUT1

Bit0 = SUTO

Bit7,642= %17 a
/WR twLwH_prB .

A: “0010 0000™

D: . Bitn=%0"

Bit 2 = Lock Bit2
Bit 1 = Lock Bitl
Bit7-3,0= %1%

L:

A %0000 0100
/OE 13 0” BSl [13 0”

Bit5 = SPIEN

Bit2 = EESAVE

Bit 2 = ¥

Bit 1 = SUT1

Bit0 = SUTO

IOE 0" BSL “0"
Bit2 = Lock Bitl
Bit1 = Lock Bit2

IOE  *17

A: “0000 1000

C: { $00~$021.

IOE  “0% BSL 0%
/OE 113 1”

76

51

RDY/BSY

DATA

DATA

DATA
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42 Ta = 251+ 10%: VCC= 5V+10%
Vpp 115 12.5 V
lpp 250 HA
tovxH Data & Control Setup before XTAL1 High 67 ns
Ixhxe XTAL2 67 ns
txi px Data & Control Hold after XTAL1 Low 67 ns
Towe XTAL1 Low to /WR Low 67 ns
tevwi BS1 Vdid to \WR Low 67 ns
tRHBX BS1 Hold after RDY/BSY High 67 ns
tyl wi /WR Pluse Width Low"” 67 ns
twHRL /WR High to RDY/BSY Low'” 20 ns
twi R /WR Low to RDY/BSY Gigh® 0.5 0.7 0.9 ms
txLoL XTAL1 Low to /OE Low 67 ns
tol pv /OE Low to DATA Vdid 20 ns
toHpz /OE High to DATA Tri-stated 20 ns
twiwH ce /WR Pulse Width Low for Chlp Erase 5 10 15 ms
twiwr_pr | /WR Pulse Width Low for Programming the 1.0 1.5 1.8 ms
B Fuse Bits
- 1. twiwH_ce » twiwH_prae
2. tWLWH tWLRH ] RDY/BSY
/RESET /PEN » FLASH EEPROM a SCKa
TXD/PDI & J RXD/PDO . 1. IRESET : /
EEPROM. , a
FLASH EEPROM $FF.
FLASH EEPROM a
ATmegal03. FLASH $0000~$FFFF: EEPROM $000~$0FFF.
ATmegat03: FLASH $0000~$7FFF. EEPROM $000~3$07FF.
XTAL1 , XTAL1 XTAL2. SCK
: >2 XTAL1
: >2  XTAL1L
1 SCK ATmega603/103: SCK
1. :
/RESET  SCK Vece GND a ]
IRESET o : SCK
a ’ SCK. /RESET XTAL
» /IRESET /PEN a '
SCK : o
2. 20ms. PDI/RXD ' PEOJ
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3‘. L] 1 3
 $53). .
$53. SCK 32
4, ] ZtWD_ERASE ] /RESET E]
5. FLASH a 7
9 ’ two_FLASH
6. EEPROM o o
two_EEPrROM a , $FF o
7- PDO/RXD (PE1}
8. . /RESET : o
9. L B
XTAL1 i Ja
IRESET o
EEPROM
EEPROM : P1;
. P2 (PL P2 441, :
o o Pl P2!
a twp_EEPROM
EEPROM ' $FF
FLASH !
43 FLASH EEPROM
3.2V 3.6V 4.0V 5.0v
twp FLASH 56ms 43ms 35ms 22ms
tWDiEEPROM oams ms 6ms 4ms
44 EEPROM
P1 P2
ATmegab03 $80 $7F
ATmegal03 $80 $7F
45 ATmegab03/103
1 2 3 4
1010 1100 0101 0011 XXXX XXXX XXXX XXXX | /RESET
1010 1100 100X XXXX XXXX XXXX XXXX XXXX FLASH EE
FLASH 0010 HOOO | aaaa aaaa | bbbb bbbb | o0ooo oooo ab H
L i
FLASH | 0100 HOOO | XXXX XXXX xbbb bbbb iii iiii b HI
) i
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FLASH 0100 1100 aaaa aaaa | bxxx Xxxx | XXXX XXXX
a:b
EEPROM | 10100000 | 0000 aaaa | bbbb bbbb | 0000 cooo ab
0
EEPROM | 11000000 | 0000 aaaa | bbbb bbbb iiii iiii i a:b
0101 1000 | XXXX XXXX XXXX XXXX | XXXX X21x | “0”
1010 1100 1111 1211 XXXX XXXX XXXX XXXX
0101 0000 [ XXXX XXXX | XXXX XXXX | Xxbx 6143 | “Q”
1010 1100 1011 6143 XXXX XXXX | XXXX XXXX | “0”
0011 0000 | Xxxx xxxx | xxxx xxbb | 0000 0000 b o]
a= Bit
b= Bit
H =0: 1
O =
i =
X =
1 = Lock Bitl
2 = Lock Bit2
3=S8UT0
4=8UT1
5= SPIEN
6 = EESAVE
77
Ta=-40T 85T V=27V -3.6V  4.0V-55V
Vi XTAL1L -0.5 03V | Vv
Viia XTALL -0.5 0.19 Y,
Vin XTALL 0.6 Ve Vect05 | V
/RESET
Vi XTALL 0.7 Ve @ Voct05 | V
Vinz /RESET 0.85 Ve ¥ Veet05 | V
Vou ¥ 1 oL =20mAs V= 5V 0.6 Y,
AB.CD,E lor =10MA: Vee= 3V 0.5
Vor ' 1 oy =-3mAs Vee= 5V 4.3 Y
AB.CD,E lon =-1.5mMA Ve = 3V 2.2
lie Vee=6V: pinlow 8.0 HA
1/10
lin Vee=6V: pinlow 8.0 HA
1/10
RRST 100 500 kil
Rio I1/0 35 120 k£
lec + Vee= 3V, 5.0 mA
4MHz
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+ Vee=3V, 2.0 mA
AMHz
lec >t wDT s+ Vec= 3V 40.0 HA
WDT + Vee= 3V 25.0 BA
lec ' WDT + Vee=3V 35.0 KA
Vacio Vo= 5V 40 mv
lacLk Vee=5V Vin=Vce /2 -50 50 nA
tacro Vo= 2.7V 750 ns
Vee= 4.0V 500
1_" 13 n {{O”
2\ [13 m 13 1”
3. 1/O {Vee=5V  20mA; Vee=3V  10mA)
1] 1/O oL 400mA
2JA . ALE. C3-C7 IOL 100mA
3]C0-C2. /RD- /WR. DO-D7.- XTAL2 IOL 100mA
4]B0-B7  10L 100mA
5]E0-E7  IOL 100mA
oL . VOL . .
4. 110 {(Vee=5V  3mMA: Vec=3V  1.5mAl
6] 1/O IOH 400mA
7]A . ALE. C3-C7 IOH 100mA
8]C0-C2. /RD. /WR. DO-D7. XTAL2 IOH 100mA
9]B0-B7  IOH 100mA
10] EO-E7 IOH 100mA
IOH . VOH
5. Vee 2V
SRAM
46 SRAM { 4.0V — 6.0Vs )
6M
0 | Utea 0.0 6.0 MHz
1 tLHLL ALE 48.3 0.5tc ns
-35.0%
2 | tave | A ALE 43.3 05tccL ns
—40.0"
3a | tiax st | ALE 77.3 0.5tc o ns
, ST/STD/STS -10.0?
3b | tax . | ALE 15.0 15.0 ns
D , LD/LDD/LDS
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4 taviie | C ALE 43.3 0.5tcic ns
—40.0”
5 tAVRL RD 136.7 1.0 tclcl ns
-30.0
6 tAVWL WR 2150 15 tCLCL ns
-35.0%
7 tiowe ALE WR 146.7 145 1.0 tcLol 1.0 tcLcl ns
-20.0 +20.0
-20. +20.
9 tovrH RD 65.0 65.0 ns
10 TrLDV RD 70.0 1.0tcicL ns
-30.0
1| Truox | RD 0.0 0.0 ns
12 TRLRH RD 146.7 1.0 teLcl ns
-20.0
13 TovwL WR 53.3 0.5 t%_((z;)L ns
=30.
14 Twhox | WR 0.0 0.0 ns
15 Tovwh WR 146.7 1.0tcc ns
-20.0
16 TWLWH WR 63.3 0.5 tclol ns
-20.0"
47 SRAM {4.0V — 6.0V, )
6M
0 1/tCLCL 0.0 6.0 MHz
10 TrLDV RD 303.4 2.0tc oL ns
=30.0
12 TRL RH RD 3134 2.0 tclcl ns
—20.0
15 TDVWH WR 313.4 2.0 tclcl ns
-30.0
16 TWLWH WR 230.0 15 tolol ns
—20.0”
: 1. 50% { half period: XTAL1L
2. 50% . { half period} XTAL1
48 SRAM 12.7V - 3.6V, )
M
0 1/tc|_c|_ 0.0 4.0 MHz
1 L HLL ALE 65.0 0.5 tclcl ns
—60.0"
2 tavie | A ALE 75.0 0.5tci oL ns
—50.0"
3a tLLAX_ST ALE 125.0 0.5(2()1(1 ns
» ST/ISTD/STS
3b | tax L | ALE 15.0 15.0 ns
D » LD/LDD/LDS
4 | tavuc [ C ALE 75.0 0.5 teicL ns
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—50.0"
5 tAVRL RD 205.0 1.0 tCLCL ns
-50.0
6 tAVWL WR 3250 15 tCLCL ns
—50.0"
7 tiowe ALE WR 230.0 270.0 1.0 tcLcl 1.0 tcLal ns
—20.0 +20.0
8 LRl ALE RD 105.0 145.0 0.5 tcLol 0.5 tccl ns
—20.0? +20.0?
9 tbvrH RD 110.0 110.0 ns
10 TrLDV RD 170.0 1.0tcicL ns
-40.0
1| Truox | RD 0.0 0.0 ns
12 TrLRH RD 230.0 1.0 teLel ns
—20.0
13 TovwL WR 90.0 0.5 tc oL ns
—35.07
14 TWHDX WR 0.0 0.0 ns
15 Tovwh WR 220.0 1.0tcc ns
—20.0
16 TWLWH WR 100.0 0.5 tCLCL ns
—25.0"
49 SRAM {27V —-3.6V,
4M
0 1/tCLCL 0.0 4.0 MHz
10 TrLDV RD 460.0 2.0tccL ns
—40.0
12 TRLRH RD 480.0 2.0 tclcl ns
—20.0
15 TDVWH WR 480.0 2.0 tCLCL ns
—40.0
16 TWLWH WR 350.0 15 tCLCL ns
—25.0%
: 1. 50% { half period: XTAL1L
2. 50% . { half period} XTAL1 .
78 SRAM
79
Vce=2.7V~3.6V Vcce=4.0V~5.5V
i tcLol 0 4 0 6 MHz
toLe 250 176 ns
teHex 100 67 ns
toLex 100 67 ns
teLeH 1.6 0.5 s
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tereL 1.6 0.5 T
. 100%
I/O I: :Iu a
1 1 I/O 1 I/O 1
CL*VCC*f a ’ C|_ L VCC = » f=1/0
{MHz) (V)
ATmegaB03L — 4AC 64A
4 27-36 (0% - 70T
ATmegab03L — 4Al B64A
{-401 - 85T}
ATmegab03 — 6AC 64A
(0T - 70T}
6 40-55 ATmegab03 — BAI 64A
{-401 - 8513
ATmegalO3L — 4AC B64A
(0T - 70T}
4 2.7-36 ATmegalO3L — 4Al 64A
(-40T - 8512
ATmegal03 — 6AC B64A
(0T - 70T
6 40-55 ATmegal03 — 6Al 64A
(-40T - 85T}
64A 64 . TQFP
AVRASM | , www.atmel.com  WWW.SL.COM.CN )
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AVR ICE ©{ STDPOD

ADCPOD,

ICE 200.

www.atmel.com WWW.SL.COM.CN )

START KIT 200
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